<component name="basic_reaction">

<variable name="A" public_interface="in" units="concentration_units" />
<variable name="B" public_interface="in" units="concentration_units" />
<variable name="delta_A" public_interface="out" units="flux_units" />
<variable name="delta_B" public_interface="out" units="flux_units" />
<variable name="k" units="flux_units" />

<reaction reversible="yes">

<variable_ref variable="A">

<role role="reactant" direction="forward"
delta_variable="delta_A" stoichiometry="1" />
</variable_ref>

<variable_ref variable="B">

<role role="product" direction="forward"
delta_variable="delta_B" stoichiometry="1" />
</variable_ref>

<variable_ref variable="k">
<role role="rate" direction="forward">
<math xmlins="http://www.w3.0rg/1998/Math/MathML">

</math>
</role>
</variable_ref>
</reaction>
</component>
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